 SEQ CHAPTER \h \r 1Student name (last name, first name): _____________________________________________
Grading Key

1)  Study habits
1. 
a) SEd = 2.5 / 8 = 0.8839

2. 
t7,.975 = 2.36

3. 
95% confidence interval for d = 8.2  (2.36)(0.8839) 

4. 
= 8.2  2.1 

5. 
= (6.1, 10.3)
6. 
b) margin of error = 2.1 
7. 
c) It would be incorrect to make this statement.

8. 
The confidence interval applies to the population mean and not to individual values.


2) Pre-test/post-test
9. 
a) The median has a depth of (42 + 1) / 2 = 21.5

10. 
This places the median between 0.1 and 0.3, so the median is 0.2.

11. 
Students who identified the median as say 2.0 will loss a point (didn’t understand the axis multiplier).

12. 
b) One low outlier: 7.4

13. 
One high outlier: 8.5

14. 
c)  Values range from 7.4 to 8.5. If we exclude the outliers, data range from 4 and +3. [either statement OK]

15. 
24 out of 42, or 57.1%


3) Ethnic differences in vitamin E 
16. 
H0: 1 = 2
17. 
H1: 1  2 

18. 
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19. 
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= 9.136

20. 
 tstat = (98  73) / 9.136 = 2.74

21. 
df = 28 

22. 
One-sided p value is between .01 and .005 (critical values: t28,.99 = 2.47 and t28,.995 = 2.76) 

23. 
.01 < p < .02

24. 
Yes, data show evidence of a significant difference (“reject H0” also OK)

4) Pediatric asthma
25. 
a) 
[image: image3.wmf]p

ˆ

 = 14 / 240 = .05833 (5.8%, although it’s not necessary to turn the prevalence into a %)

26. 
b) Yes. Since 
[image: image4.wmf]q
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= (240)(.0583)(.9417) = 13.2 

27. 
c) 
[image: image5.wmf]p

~

 = 16 / 244 = .06557 (and 
[image: image6.wmf]q

~

= .93443) 

28. 
sep~ = .01585

29. 
95% CI for p = .06557  (1.96)(.01585) 

30. 
= .06557  .03107

31. 
= (.0345, .0966)

32. 
d) n = (1.96²)(.0583)(.9417) / .022  [application of formula; OK if student uses p of about .06 instead of .0583]
33. 
 527
[answer need not be exact]

5  Incidences of recovery
34. 
a) 
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36. 
b) H0: p1 = p2 [= p] 

37. 
H1: p1 ≠  p2 
38. 
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 [no need to show separately, but should appear as numerator in zstat]

39. 
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40. 
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41. 
One sided p value = .0048 [not requested, listed for partial credit]

42. 
Two-sided p value = .0094

43. 
c) Yes. The difference is [highly] significant

6) Terms 

44. 
a) “Inference” or “statistical inference”

45. 
b) Alpha

46. 
c) Power

47. 
d) Type II error

48. 
e) Parameter 

49. 
f) p value

50. 
g) Central limit theorem
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